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CODE : 2508
1 Which of the following is true?
N g
M 5> @ 3
1 1 1 1
— T — — 3 = —
3) 576 4 5355

27
2 The decimal representation of ——is:

400
(1) Terminating
(2) Non-terminating recurring
(3) Non- terminating non recurring
(4) None of these

64
3. Find the square root of ——

0.04
(120 (2)0.08
(3) 40 (4) 80
2
4.  The value of {\E +%] is:
(1) 2.5 (2) 35
3) 4.5 (4) 5.5

CLC
CLASS-VIII e cn das

Tatert Bxplering ELE Mosicnal Blympiod-2025

MATHS (SECTION-A)

1. F=foRed |4 9 a9 9 87
N S 11
M3>% 2 5<%

1T 1 1
®35=g (4) 5x3=¢

2 2L e e
40035[

(1) |ra
PERIGEIES]
(3) 3T 3T
(4) 37 9 DIS &I
64

3 Goa @1 A S BRI |
(1) 20 (2) 0.08
(3) 40 (4) 80

2

4 {ﬁJr%] BT A T BITT?
(125 (2) 35
(3) 4.5 (4) 5.5

Y% BT @ 179 S8/ Space for Rough Work

"HHEET™ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph: 01572-255500 ( 1 2



CLC
CLASS-VIII
tecnd/>:
Find the val fi\/i“/%
ind the value o \/§+\/E
(18 (2) 4
(3)2 4 2

Two natural numbers are in the ratioof 3: 5and | 6.
their multiplication is 2160. Find the smaller
number:

(1) 36 (2) 24

(3) 18 (4)12

By which number should we divide 500 so that | 7.
the result is a perfect cube:

M5 2) 4

(3) 10 4)2

Find the value of i/% 8.
012 @1

O 1% @ 25

CODE : 2508
\/\/g:\/\c BT H19 ST BRI |
(ms (2) 4
(32 4) 2

&1 U TG 32 5 % U H & TT SH] o5
2160 &, BIC! T&1 91 B |

(1) 36 (2)24

()18 (4) 12

500 ¥ frd wwea b1 AT fergm Sy fob ufRomms e gofes
8

(M5 2 4
(3)10 (4) 2
3 4225[ A ST B |

125

2 3
Q) 15 (2) "g

4 2
) 1§ (4) 2§

Y% B @ fory S8/ Space for Rough Work
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CLASS-VIII
9.  The volume of a cube is 1728 cm? then find the | 9.
length of its edge:
(1)18 cm (2)14cm
(3)12cm (4)17 cm
10. %/333 +1/987 + W is equal to: 10.
(1) 21 (2) 18
(3)7 (4)3
1. If all sides of a quadrilateral are equal then it can | 11.
be:
(1) Rectangle (2) Square
(3) Parallelogram  (4) Trapezium
12 A quadrilateral has three acute angles, each | 12.
measuring 75°. Find the measure of the fourth
angle:
(1) 130° (2) 135°
(3) 140° (4) 145°
13.  Find the number of diagonals of a polygon of sides | 13.

CODE : 2508

12.
(1) 108
(3) 54

(2) 50
(4) 44

MWWWW%CN%H’[WWH&
TS ST BN |

(118 cm (2)14 cm
(3)12cm (4)17 cm
{/333 +3987 + 32197 TR
(1) 21 (2)18
(37 (4)3

e fopel agst ol afi o FHF eI 1 I8 ____ 8l
BT 2 |

(1) smad (2) T

(3) FAR AgHS  (4) FH A

TP AHST B I DIV DI 8, U DIV BT A
75° & @1 Igel DIV &1 AT ST DIFTY |

(1) 130° (2) 135°

(3) 140° (4) 145°

12 Y[ST1311 aTel 98l & fAmull @ = SiTd Iy |

(1) 108
(3) 54

(2) 50
(4) 44

V% B P [o17 O /" Space for Rough Work
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15.

16.

17.

18.

CLC
tecnd=
If one angle of a parallelogram is 24° less than twice

the smallest angle then the largest angle of the
parallelogram is:

(1) 68° (2) 102°
(3) 112° (4) 176°
Find the value of the expression (81x*+16y*~72xy),
when x:g and yzi
3 4
(1 -9 (2)10
(3) -10 (4)9
If (a-b) =7 and ab = 9, then (a’ + b%) =?
(1) 67 (2) 31
(3) 40 (4) 58
2x? +3x+1)+(x+1)=?
(1) (x+7) (2) 2x+7)
(3) (x +3) (4) (2x +3)
Find the product of

(2x* + 3x —7) and (3x* -5x + 4).
(1) 6x* -x° -28x>+47x-28

(2) 6x* -21x° -28x%+47x-28
(3) 6x* -36x° -28x*+35x-28
(4) 6x* +x° —28x%*+47x-28

CLASS-VIII

14.

15.

16.

17.

18.

CODE : 2508
ol TR AT BT Yo BIvT, Fa BIC DIV &
A W 24° B & Al FHINR AGHS D Fa9 IS DIV
1A 2

(1) 68° (2)102°

(3) 112° (4) 176°

ST (81x*+16y°-72xy) BT AT ST HIFAT oid
2 3

X= 5 Gﬁ? y = Z %

(M -9 (2) 10

(3) -10 (4) 9

afe (a-b) =7dMab=98 T (@’ +b?) =?

(1) 67 (2) 31

(3) 40 (4) 58

(2x2 +3x+1)+(x+1)=?

(M (x+1) (2) (2x +1)

(3) (x +3) (4) (2x +3)

(2x* + 3x =7) 3R (3x% -5x + 4)

&1 YUHHE FId DI |

(1) 6x* -x* -28x*+47x-28

(2) 6x* -21x> -28x*+47x-28
(3) 6x* -36x> -28x%*+35x-28
(4) 6x* +x* -28x*+47x-28

YE @1 B 77 57778/ Space for Rough Work
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CODE : 2508 RS CLC
ecndfs
3 3
19. Evaluate: (E] 19.

9 27 9 27
W25 @ 35 M > @ 5
9 27 9
3) E (4) 5 @) 5 (4) S
20. The value of [3‘1 o ]_1 =57s: 20. [3_1 +4‘1]1 +57 B A
7 60 7 60
(1) o (2 3 Q) o (2) 5
. 0y L a1 L L
®) 3 @ 7 OF @

21 The value of 872 x 27)%3s: 21 8 x (2P HmHEAE:
9 9 9 9
(1 “oa ()] 61 ™M T (2) P
4 25 4 25
®) 5 @5 @) 5 @5

Y% &1 @ [o77 58 / Space for Rough Work
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CLC - CLASS_VIII CODE : 2508
tecn
6X +1 X—3 6X +1 3
2 |If +1=——, thenx = 2 e 3 1= gdlx="?
(M1 (2) -1 m1 (2) -1
(3)3 (4)-3 (3)3 (4)-3
23.  Twonumberareintheratio8:3.I1fthesumofthe | 23. &1\ 8:3 & AU H © | I AN BT AT 143
number is 143. Find the numbers: © | =T S BIIY |
(1) 104, 39 (2) 103, 104 (1) 104, 39 (2) 103, 104
(3) 100, 43 (4) 90, 53 (3) 100, 43 (4) 90, 53
6x+7 4x+5 6x+7 4x+5
24.  Solve: = 24, ®A : =
3Xx+2  2X+3 3X+2  2X+3
)0 ) 0 )0 1
(1) 5 ) 5 (M 9 (2) 9
9 9
(3) 1 49 ©) T 4)9
25. The sum of the digits of a two digit numberis 12. | 25. &I 3[®I &I U A& & 3D I AN 12 & | IX IqD
If the new number formed by reversing the digits 3T T MU ¥ geol=l IR U 715 AT &1 718 A&
is greater than the original number by 54, find the J 54 310 € | G&AT ST BHIfoTT |
original number:
(1) 49 (2) 39 (1) 49 (2) 39
(3) 53 (4) &1 (3) 53 (4) 41

YE Pref B [ory oiTE /" Space for Rough Work

6 "HHEASAT™ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph: 01572-255500



CODE : 2508

17 November, 2024

26.

27.

28,

29,

CLASS-VIII

CLC
\tecnd=

Tatert Bxplering ELE Mosicnal Blympiod-2025

MAT (SECTION-B)

Vimla starts from her home and walks 30 m
towards north and then turns right and walks 40
m. Then, she turns left and walks 35 m. After that,
she turns right and walks 40 m. From there, she
turns right and walks 85 m. Then, she again turns
right and walks 50 m. From there, she finally turns
right and walks 20 m. How far is she from her home
now and in which direction with reference to her
home?

(1) 100 m, East (2) 20 m, West

(3) 30 m, South (4) 30 m, East

South-East is called North-East, North-East is called
North-West, South-West is called South-East.
What will North-West be called ?

(1) South-East (2) North

(3) East (4) South-West

In a code language, if CLASSIFY is written as
XOZHHRUB, then how will MODIFY be written in
thatlangauge ?

(1) NLWRUB (2) RUBNLW

(3) RUBNWL (4) NLRUBW

In a certain language, ALGAES is written as XJFLQF.
What is the code for ROBUST in that code

language ?
(1) YXZGTW (2) ZYAHUX
(3) ZYBUHX (4) YYZGTW

26.

27.

28,

29.

TERTETT 3101 BR W Y36 Rl & 3R 30 HIeR IR &l AR
Ferel B 3R R <10 el B 317 40 Hiex g B, e
I8 910 99l 8 3R 35 Hiex gerl B, SUS 91 98 Y
TSl & 3R 40 WIex gorch &, 981 9 98 TN gl ©
3fIR 85 #lex =refdl 2, v a8 fhe & a1¢ gl 2 3iR
I8 W 50 HIex Ferdh! &, 37d ¥ &Y J$dl & 3R 20 Hiex
oA & | I8 314 U ER A fh+l X 2 3R MM ;R B
T | fora fRem # 2 2

(1) 100 #iex, gd (2) 20 #rex, uf¥aH

(3) 30 R, &f@or  (4) 30 Hiex, d

Afe SevT—ud ®1 ITR—7d, ITR—7d Pl ITR—U¥TH,
gferor—af¥em @1 sfer—gd we1 o1 © | STR—uf¥aH
DI RAT PHET STRATT ?

(1) =feéror—gd (2) SR

(3) 5@ (4) sferor—ul¥gm

T e 9T H Jfa CLASSIFY @I XOZHHRUB fora
SITAT &, A1 9 9187 § MODIFY @ {1 ysr foran
I 2

(1) NLWRUB (2) RUBNLW

(3) RUBNWL (4) NLRUBW

Ue (T TS W1 H, ALGAES I XJFLQF foran ST
2 | S e W1 H ROBUST @ forq de & g1 ?

(1) YXZGTW
(3) ZYBUHX

(2) ZYAHUX
(4) YYZGTW

V% B P [o17 O /" Space for Rough Work
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31

32

CLC
tecnd=
In a certain code language, OPERATION is written
as PNFPBRJMO. How will ACCIDENT be written in
code language ?

(1) BADGECRO (2) BADGEFOR

(3) BADGECOR (4) ABDGECOR

Select the venn diagram that best represents the
relationship between the following :

Carnivore, Frog, Amphibian

QD o0
(@ B

Select the venn diagram that best represents the
relationship between the following :
Producer, Director, Actor

o(@®@ o@D
@ w000

CLASS-VIII

30.

31

32

CODE : 2508

17 November, 2024

T 39 e W 9, OPERATION @1 PNFPBRIMO
@ U H foran ST 2 | age W91 § ACCIDENT @I s
UehR forar SIrgn ?

(1) BADGECRO (2) BADGEFOR

(3) BADGECOR (4) ABDGECOR

T 91 3N BT T BN Gl fereferRad @ 4 day
DI HITdq ®Y H a8 —

qTATER], Hedh, SHITR

QD OO
OE

I I TR BT I BN ol (F=ferRad & dra gae
Bl FaraH wY § <9idr g —
fermatar, fAcere, sifd=an

(@) o@D
o & «OOO

YE Pref B [ory oiTE /" Space for Rough Work
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CLASS-VIII
33.  Inthe following equation, two signs need to the | 33.
interchanged to make the given value correct.
Choose the signs from the given alternatives.
84 +4x5-4+5=104
(1) xand + (2) +and x
(3) +and + (4) +and -
34. If+means -, - means %, + means + and xmeans +, | 34.
then10x5+3-2+3=7?
(M5 (221
(3) 53/3 (4)18
35. Ram'srankin a class is 8th from the top and 28th | 35.
from the bottom. Find out how many students are
there in that class.
(1) 33 (2) 34
(3) 35 (4) 36
36. Vinay is ranked 13th from the top and 26th from | 36.

CODE : 2508

the bottom among the students who passed the
examination of a class. If 7 students failed in this
examination, then how many students were there
in this examination in total ?

(1M 39 (2) 45

(3) 38 (4) 40

ﬁmﬁr@ﬁwﬁaﬂwﬁ ﬁﬂwwaﬁﬂﬁaﬂﬁfﬁ
forg g1 ol o1 3oy # 9ger BT 3Mavshdr 2 | Ry Iy
faeedl # 4 fael &1 gy |
84+4x%x5-4+5=104

(1) x 3R + (2) + 3R x

(3) + 3R + (4) + 3R -

AfE + 1 3121 —, — 1 372f x, + & 312 + 3R x BT 37 +
2. al10x5+3-2+3=7?

E (2) 21

(3) 53/3 (4)18

foredt Pet1 ® I 31 HHTG HUR A 841 IR I A 28dT
2 | 9am & S Fen § g oo faemeff & ?

(133 (2) 34

() 35 (4) 36

o) men @ wler § Scfivl fenfeiat & dra o o
FHHID HUR W 13971 3R 1 & 264f & | afe 7 fqemeft
9 UeAT H 37ciof g B, 1 9 b 599 uxlen H e
fpae faemeft o 2

(1) 39
(3) 38

(2) 45
(4) 40

Y% BT @ 179 S8/ Space for Rough Work
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38.

39.

40.

CLC
tecnd=
My brother is 562 days older than me. Where as
my sister is 75 weeks and 3 days older than him. If
my sister was born on Tuesday, then on which day
was | born ?

(1) Sunday (2) Wednesday

(3) Monday (4) Tuesday

If 10th January 1995 was Monday then what day
will it be on 31st March 1995 ?

(1) Sunday (2) Tuesday

(3) Thursday (4) Monday

Select the option that is related to the third
number in the same way as the second number is
related to the first number.

18:10::24:7
(112 (2) 29
(3)13 (4)17

Select the option that is related to the third
number in the same way as the second number is
related to the first number.

12:67::16:7
(1) 80 (2) 72
(3) 91 (4) 70

CLASS-VIII

37.

38

39.

40.

CODE : 2508

17 November, 2024

X1 HTE Yo 562 a1 9918 | STafds #91 91 994 75
e 3R 3 fo ) © | A A9 g WeraR @ 4a]

g3 ol #_1 9T fore aR I gar ?
(1) Xfaar (2) ggar
(3) AFAR (4) AR

I 10 T=aRT 1995 1 HHIR T AT 31 HIE 1995 Pl
DITAT IR B ?

(1) Jfaar (2) SR

() ToIR (4) g9arR

39 e &1 gI9 Y, Sl AR &1 A S Sl
UHR WO 2, T PR gA &1 Ugell H&
HARd 2 |

18:10::24:7
(1) 12 (2) 29
(3)13 (4) 17

39 fadhed &1 T8 o, S AR &1 9 S I
gHR Hafed g, T8 UaR gad A1 ugdl aw&

GEIEEA

12:67::16:7?
(1) 80 (2)72
(3) 91 (4) 70

YE Pref B [ory oiTE /" Space for Rough Work
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CODE : 2508

17 November, 2024

4.

42.

43,

45,

CLASS-VIII

CLC
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Tatert Bxplering ELE Mosicnal Blympiod-2025

PHYSICS (SECTION-C)

Atmospheric pressure at a higher altitude is :

(1) Greater than the pressure at sea level

(2) The same as the pressure at sea level

(3) Less than the pressure at sea level

(4) Zero

A body is moving under the action of a force that
causes its velocity to change from 10m/s to 20m/s
in 5 seconds. If the mass of the body is 5 kg, what
is the magnitude of the force acting on it ?

(1) 2N (2) 5N

(3) 10N (4) 20N

A hydraulic press has a large piston of area 5m? &
small piston of area 0.05m> If a force of 100N is
applied to the small piston, what is the force
exerted by the large piston

(1) 1000N (2) 10000N

(3) 100N (4) 500N

When a wheel is rolling on the road the frictional
force between the wheel and road acts in.

(1) Forward direction

(2) Backward direction

(3) Upward direction

(4) In any direction

A block of mass 15 kg is to be dragged along a
rough horizontal surface having p, = 0.5 p, = 0.3.
The horizontal force applied for dragging it is 50N.
The frictional force acting on the block is :

(1) 75N (2) 50N

(3) 25N (4) 125N

a.

42,

43,

45,

$AE IR ARHSHAR &9 :

(1) T T R T4 A 376 B 2 |

(2) ¥ T IR T4 & AA el ¢ |

(3) WS T IR T W HH BT |

(@) ez

T g IR U gl BRING &, [T IHHT 97 10m/s
H 20m/s B ST 2 3R I8 URTc= 5 HHvS A EA1 2 |
Ife a%g &1 G Skg B, 1 9 TR B B arel
I BT IRATT FAT 8 ?

(1) 2N (2) 5N

(3) 10N (4) 20N

T BTgSIfere U | Uh g1 fave fordet &5t el 5m?
2 3R Us BIel fUwed e &3k 0.05m? 2 | afe
BIc fOe= IR 100N BT I ST 91T &, 41 93 fiRed
SRT I g T 8T ?

(1) 1000N (2) 10000N

(3) 100N (4) 500N

19 U@ U Ageh WX A & 2, d1 Uk 3R s b
dra guor 997 AT

VEREIREIE:]

(2) ¥re @1 feen o

(3) SR @ feem |

(4) fordy o faem &

Ueh 15kg GIH & T[Cdh Bl Tdh YR Ade N R
ST 2 a7 = 0.5 W&, = 0.3 B | [ B e
@ forg 50N g &iferst forem # =1 e 2 &1 Jed wR
T 9Tl YY1 g1 B

(1) 75N (2) 50N

(3) 25N (4) 125N

Y% 1 B [o7v S8/ Space for Rough Work
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47.

48,

49,

50.

CLC
tecnd=
Which option is correct about the wheel of car
moving on the road ?

(1) Rolling friction > Limiting friction > sliding
friction

(2) Limiting friction > Rolling friction > Sliding
friction

(3) Rolling friction > Sliding friction > Limiting
friction

(4) Limiting friction > Sliding friction > Rolling
friction

Which of the following is a luminous source of light
?

(1) Moon (2) Star

(3) Book (4) Earth

Which of the following is not a characteristic of
light ?

(1) Light travels with speed of 3x10® m/s
(2) Light is an electromagnetic wave

(3) Light travels on straight path

(4) Light is a mechanical wave

Heat from the sun reaches to the earth by :
(1) Radiation (2) Conduction

(3) Convection (4) All of these

The temperature of 68°F is equal to :
(1) 68°C (2) 341K
(3) 20°C (4) 20K

CLASS-VIII

46.

47.

48

49,

50.

CODE : 2508

17 November, 2024

TSh R Ioldl PR P URT & IR § B4l fAdhed T8
g7
(1) <fre=t gdvr > Hrmid gy > qt g

(2) AT TEOT > Ares gy > At gy
(3) <irestT Tor > | Tvr > Wi wor
(4) Aia T > |t T > e T
fA=afeRad § 9 SIa1 UaTer &1 U<iod W Id © —

(1) === (2) AR

() @ (4) gt
fer=rforRad & | oI ot & fagiyar =81 2 ?

(1) 1T 3x108 m/s @ AT | e 2 |
(2) YT e fAgd T AR E |
(3) WapTeT e T H THA BRAT © |
(4) UDTe U TS a1 2 |

G 37 qTell ST Yl UR .
(1) fafe=or (2) =T

(3) @as (4) J T
68°F TTTHT dRTeN &Il -\Ex\' :

(1) 68°C (2) 341K

(3) 20°C (4) 20K

@ gRI Ugad ©
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CHEMISTRY (SECTION-D)

Identify x and y ?

AlLO; + NaOH —— x +y

(1) Na,0 + H,0 (2) NaAIO, + H,0

(3) AI(NO,), + H,O (4) Na,Al,O, +H,0

When metal hydroxide is heated what will be
formed ?

(1) Metal hydroxide and water

(2) Metal oxide and water

(3) Metal hydroxide and water

(4) All of these

Which one of the following oxide is amphoteric
in nature ?

(1) Na,0 (2) ALLO,

(3) MgoO (4) NaCl

Combustionis a......process

(1) Physical and endothermic

(2) Chemical and endothermic

(3) Physical and exothermic

(4) Chemical and exothermic

It is dangerous to burn wood in a close room the
gas produced can be fatal to the person sleeping
in the room. Identify the gas x.

(1) Co, (2) SO,

(3) NO, (4) CO

51

52,

53.

54,

55,

X dy B Ugar= &N ?
AlLO; + NaOH —— x +y

MNa,0+H,0  (2) NaAlO, + H,0

(3) A(NOs); + H,0  (4) Na,AlLO, + H,0

S difcad gggaarss & T fhar orar 8, a1 &
gIare ?

1) eNfae BTSSR S 9 T

(2) anfcas sifeargs 9 STd

(3) aTfea BIE8Iss d ST

(4) SURIGT T4

ferferRad # A Bi=1 Yo Syl uafa a1 sifrTs s
27

(1) Na,O

(3) MgO

TEAYD .. THAT |
(1) W 3R SeATe!

(2) SIS 3R AT

(3) Hifcres 3R SHeTerd)

(4) TS 3R HeTied

o9 el a2 IR H AhS! Telg Wl 8, a1 x 19
I B B, O HR | A1 W8 afdd @ forg a1d@ @
FoHdig | M I xE |
(1) co,

(3) NO,

(2) ALO,
(4) NaC|

2) SO,
(4) CO
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The combustion in which large amount of gases
are evolved with the production of a tremendous
amount of heat light and sound is
(1) Rapid combustion
(2) Spontaneous combustion
(3) Explosion
(4) None of these
The process of heating coal in the absence of airis
called :

(1) Distillation
(3) Evaporation

(2) Sublimation

(4) Destructive distillation
Which type of coal produces less heat and more
smoke on burning ?

(1) Peat (2) Lignite

(3) Anthractie (4) Bituminous

Which statement is correct ?

(1) Producer gas - (CO + H,)

(2) Water gas (CO + N,)

(3) Crude oil is known as black gold

(4) All of these

The upper level of ground water is called ?

(1) Water cycle (2) Water level

(3) Both (4) None of these
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T T 9 A= 3 I rherdt © | 92 s1fre |
H AT Y12l 9 eaf S0 Bl & | I DeelTdl ¢ |

(1) e &84

(2) ¥@d: g5

(3) fammre

(4) SWRIFT 7 | BIY T2l

DRI P arg B STURTY  TH BT BEari ¢ |
VEISER! (2) SeduTaH

(3) arefidRo ORERINEINESINES!

DITH DI TA TR HH HWAT d TP G3ll Iea~
FRATE ?

(1) die (2) fermrge
(3) vTEe (4) fagH
PITAT HAT T & ?

(1) WTSZER 79 - (CO + H,)

(2) 97 99 (CO + N,)

(3) Fa I (S 3iTIA) BT Bl ATl T 2 |
(4) SURTaT |

YoTol BT HURN TR T HEAT & ?
(1) STet ash (2) STeT TR
(3) ST ST 4) 3T | BIg TRl
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BIOLOGY (SECTION-E)

CODE : 2508
61.  Which of the following is a harmful microorganism?
(1) Lactobacillus (2) Plasmodium
(3) Penicillin (4) Rhizobium
62.  Which of the following diseases is caused by
protozoa?
(1) Amoebiasis (2) Typhoid
(3)TB. (4) Measles
63. What is the function of alveoli in the lungs?
(1) To filter air
(2) To transport blood
(3) To exchange gases
(4) To store oxygen
64. In which part of the cell does aerobic respiration
occur?
(1) Cytoplasm (2) Nucleus
(3) Mitochondria  (4) Ribosome
65. During heavy exercise, which substance can build

up in the muscles causing fatigue?
(1) Lactic acid (2) Urea
(3) Glucose (4) Ammonia

61.

62.

63.

64.

65.

99 9§ DIl BIBRS Fedoid 27

(1) TR (2) TSHIRSTH
(3) ufARafer ORESUERES]
STH | DIF—3T AT UISTSNeT §RT 8ial 87
(1) eIl (2) cIEPIES

(3) Erdt (4) a1

Bl H ARHIRGDT BT FIT BT 22

(1) 41 DI BT

(2) T BT URTEA HRAT

(3) AT BT MMETH—UETH BRAT

(4) SRS BT FUfRT HRAT

BIRDBT & b 9T § IR 2a=a el 87
(1) ATSTIATSH Q) d=d

(3) AgCIAItRgAT  (4) VI

IR QI & SR, DI A1 gared Ui #
BIDR BT UGT B Fhal 87?

() Afded et (2) IRA

(3) Tt (4) T
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What is the main component of human blood
responsible for transporting oxygen?

(1) White blood cells

(2) Plasma

(3) Platelets

(4) Red blood cells

What is the role of stomata in plants?

(1) Absorb water

(2) Exchange gases

(3) Transport food

(4) Support the plant

What kind of blood does the right side of the heart
carry?

(1) Oxygenated

(2) Deoxygenated

(3) Both oxygenated and deoxygenated

(4) Nutrient-rich

Which process in plants allows them to absorb
water through their roots?

(1) Osmosis (2) Transpiration

(3) Photosynthesis (4) Respiration

Which of the following tools is used for ploughing?

(1) Sickle
(3) Harrow

(2) Hoe
(4) Axe
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(2) wATSHT

(3) wicecH
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aiell # ¢ (FSTHTET) BT T By 87

(1) I BT ST

(2) 41 @I METF-Ha™

(3) ¥roTH &1 gRagd

(4) 01 @1 FHT

g @ qIfe R # fard TR &1 3 =ar 27

(1) SiTeRATST geh

(2) 3ffeRiTo= 3fRd

(3) &I sifedoT b 3IR sifardor fea

(4) UTYP T I

DI A ufhan el Bl DI STS1 & HIETH A Ul DI
3TN B B AR <l 27

(1) URTEROT PELIRSE

(3) UhTYT HYAWYT  (4) TIEH

fFeforRad # A @19 J1 SUDHRT SATg B forg IurT
febam ST 27
(1) SR

(3) &

(2) wrast
(4) HeerS!
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